4\#8 / External View

BMAZ / Components

[ x®&= : TY-34)2008.02.08

No. %# / Part name ®E / Pcs ME / Material ® . xEME / Color- Finish
T |y THN— / Top cover 1 ABSHEifs / ABS AJ{NT V- / White gray
A YI-K°2-h / Polycarbonate |#B / Transparent
2 |K7+— / Base 1 ABSEiRE / ABS AJ{NT b= / White gray
3 Ay b / Gasket 1 A Y7b9y / Polyurethane 75v7 / Black
L |7v # / Latch 2 A7Jbx / Stainless steel w38 / Unfinished
o 5 [mff~x—-2Z2ALA(MS x 10) b gk = {704~k
Screw(M5 - 10) Steel Trivalent chromate
' 1 F7-HNMF—% / Technical Data
REZMK / Protection class IP65
FERREEEE / Operafing temperature | -10C ~ +60C
380 WM 2 5 2/ Flammability class UL94LHB
338 130
325 30
310
25X 9= 225
— 7 ) ( |
19, 0000090000 9L
1o o
Q = O o H
SIS L>'r<'w = 1 o O o
< 1 © O 0
1 © Sl
1e? o000 000 o0 A
L -M547%-hFyh
29.130 4-M5 Insert nut L
®
I 1
'_H BAK@EERED) / Color Type(End of product numberd)
. by 7=/ Top cover A7+ — / Base
R w74 7L — / White gray |[x74 FZ L — / White gray
- BB/ Transparent R74 FFL— / White gray
L~ M54 41— hFyh T 362.6 N _ &% /Title N—
L-M5 Insert nut BASHIDFERIX K -BHERBRINABST 7Ky 7 2 O L
TAKACHI ELECTRONICS ENCLOSURE Co., LTD. IP65 LATCH-HINGED ABS PLASTIC BOX
KR /Approved | IRE /Checked | #E/Created |F% /Product number RE/ScaleTA
. BCAP2838130 :
o) iR 179
fEfB /Date  2018/10/09




[ x®&= : TY-34)2008.02.08

RfR / Internal View

AT 14— (RR) H— (AR)

Base (Internal View) Cover (Internal View)

2 130 380

- ]
Oes N

NG
LN
=
® @ 5
o ® ® >
(eo) (g
o ® @ =
ﬂé
® B
u
6\
lo°_©000000000 Q@ _
R U’j\
o L-M5478-RFoh L - M54~ M9k
M 4-M5 Insert nut 4-M5 Insert nut
E
)
<
M
>
~ S
3 o N
1) N
[0 —M MM
s — U
e R _ 2% /Title S —
BIHE /Max dim. 354 HARAS N F BB X Bk B BB ABST 3 Ky 7 A O ]
TAKACHI ELECTRONICS ENCLOSURE Co., LTD. |P65 LATCH-HINGED ABS PLASTIC BOX
KR /Approved | IRE /Checked | #E/Created |F% /Product number RE/Scale“*
. BCAP283813G/BCAP283813T :
=) PR 2/ 2
fERB /Date  2018/10/09




	BCAP283813 Model (1)
	BCAP283813 Model (2)

